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5.3 Take Another Spin
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The trapezoid shown below is revolved about the y-axis to = g
form a frustum (e.g., bottom slice) of a cone. 8 <
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1. Draw a sketch ol‘}he three-dimensional object formed by rotating the trapezoiJabout the y-
axis.
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2. Find the volume of the object formed. Explain how you used the diagram to help you find
the volume.
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You have made use of the formulas for cylinders and cones in your work with solids of revolution.
Sometimes a solid of revolution cannot be decomposed exactly into cylinders and cones. We can
approximate the volume of solids of revolution whose cross sections include curved edges by

replacing them with line segments.
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3. The following diagram shows the cross section of a flower vase. Approximate the volume of 23,01

the vase by using line segments to approximate the curved edges. (Show the line segments |
you used to approximate the figure on the diagram.)
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4. Describe and carry out a strategy that will improve your approximation for the volume of

the vase.
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0) V- L () + (DD 2?) = 588
i 7 (2)0) = 1297

¢) V=g (47)= 26303
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